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L $60,000
BEZ $41,000
HRA $30,000
Ty $24,000
Srypes $18,000
Frs $18,000
rEwp $12,000
& $12,000
S 3 $10,500
ko $10,000
ot & $10,000
% & 44 $8,000
il $6,000
B4 K $5,196
T $1,000
A $1,000
SR $1,000
g $371,184
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1 EHX H5EhE 5 $2,000 N
2 HBKRE 15BN S $2,000 N
3 SRIGEE HSEhE & $2,000 21
4 MHE SEENEE $2,000 28]
5 FTERAR H5Eh 2% $2,000 N
6 BREE 1EENE $2,000 28
7 BE& H5EhE & $2,000 2
8 TRt H5Eh S $2,000 N
9 ZET H5Eh 25 $2,000 28
10 HEE 13ENE 5 $2,000 28
11 & H5Eh S & $2,000 28
12 s 15BN $2,000 28
13 e S H5Eh 25 $2,000 2
14 HEE H5EhE % $2,000 N
15 PRASET HEENE & $2,000 28
16 ARE HEEhE S $2,000 28
17 HRE HSEHEE $2,000 28
18 U 1RENE S $2,000 N
19 L HEENE & $2,000 S8
20 TR BEE $2,000 28
21 fali%sy H5Eh 25 $2,000 28
22 LIS H5EhE2 % $2,000 28
23 BRE X HSghE s $2,000 28




24 BB HEENE S $2,000 28
25 TRBHIE HSphE S $2,000 2
26 M 1EEE G $2,000 28
27 FHE51E HEghEE 4 $2,000 28
28 BT 12 $2,000 =8
29 SEIl HEghEG $2,000 21
30 #H RIS BEEhEE G $2,000 28
31 EET 1B E $2,000 £
32 b ki HEEnEE 4 $1,600 28
33 PR % HEEhEE G5 $1,600 2
34 =R HEEhEE G $1,600 28
35 L= 1R R EE $1,600 =8
36 Gk HEphEL 4 $1,600 28]
37 TREEEX HEENEE G $1,600 28
38 FriEE HEEhEE 4 $1,600 =)
39 IR 1EEhEE & $1,000 £
40 MR HERNEL 4> $1,000 28
41 TREHT HEphER G $1,000 28
42 [ 5/, BEEhEE G $1,000 =)
43 T i $1,000 =8
44 REH HERNE 5 $500 2
45 BT HEENER G $5,000 HEIEE—4
46 225k HEEhER g $3,000 BHIEE "4
47 Y HERNE 5 $2,000 RIEE=%4
48 BEY HEEhEL 4> $1,000 BEEEESE
49 PRFREF HEENER G $1,000 BEEME
50 RN ESE $60,000
51 HaEeE $50,000
52 FELPT HEEEE 5 $10,000
53 R BEphER S $10,000
A% $220,700




